<Y T 7T (BLA)ICETIEDNTE L7,
BFEFELEORTFT—<v a7 IVEETIEL T2 &,
HLIBEVEHL EIFE5,

@i 22 Fhik : VWYY -4R
RA Y b ADMERTIEDT2HA T A FDELEA,

/
RH:1,489
LH:1,452

1,464

980 RH:1,303

LH412 g LH:1,267
G

J
S| v




@y 22 F£hy : YWY —-5H
1 cHATHZEALY METIE,

e o | @ 9xs
2| I | a9k A4 K - ARIVAENR ) &7
e s e | ) 9% 10
Wl T | 2259k 34K - SRIVBIEIR ) &7
@R 22 Fhy . YWH—8EH
1 CHATHZEIEICETIE,
G:
1,251
c’ 1,513 H
7T |l 1,120 £ '
1,215 D[ 1,191 ?
A B o817 Oi 1,114
{4SD) F NPT 1’12;[?7%} E 1,072 |
- )
= F
—F1215
A — 817
—nuvB O ™ })
(5HB) 1,128 94—




<~V Y 7T IF(DER)ICETIEDRTE L7,
BFEFELEORTFT—<v a7 IVEETIEL T2 &,
HLIBEVEHL EIFE5,

@k 20 Fhr : YWYH — 36 E
@Ry 22 Fhy : YWYY - 22 H

S 1IE
A—E :456 |=—pp» | A—E :570
A—G :624 |=—Pp» | A—G :716
A—F’ :937 |=—Pp»| A—F :874
A—G’ :962 |=—Pp» | A—G’ :897

@R 20 Fhix : ¥YW5 - 38EH (4WD E)
@k 22 Fhy : ¥WY5 - 24 B (4WD )

[ cHATH A EMHEICETIE,

890

R) ¢ 12

§I:| . . _ | =
B J | UV YAk TL—ABENR ) 7 % 10

v

E| J | VvV -Hab - TU—LRBER b 12




@®Fmy 20 &Fhy : ¥WSHF — 458 (2WD E)
1 CHATHZEMEICETIE,

[ THATH 2HUEICETIE,

(7£) 7 X 10

E| J | VP -HaR - TL—LRER b 12

3|y | ur ke TL—apER | D 212 "
® /O

S L >
(o2} < (9}
< o] ©
§l|<268>||<—-414- (O 3o7>|




@ =EL+ET VHv1/VHr4B4 (BM/BR R)
: 2R 22 SRR 1B#K

—HEBICRTIEE . DR A T &K > TERA ¥ bR S FENDH D £
F [ EMETIE X2 RBINEFT T, BFRBONEREZITEL T RFEW,

BETEIT—22R—2

[BAR 232U (GARAV/N)] (8> - DTV HE)

& a2 | IRA—ILRX—X | 2,750 mm OUTBACK | 7kf—)LRX—X | 2,745 mm
(13)
] (54)
~F00)
53 L (89) i i (B)
St TA AT, rl AR o
- , I>~%(93)
i (13)=z T
(72) N k {( /
| 0
(72) __/s_g
r ) 5
s BSAFYA FUILTSVIMTFR (HITAE) ZEEIC UTREKFHRH OBEER X COEBERRH.
| « XENEPTIE D 5+ TLUE | e E EETE SEE TEETE
A) HE¥ER B FA RATUE—SKL | EEER —(13) 653 (77)—(89) 2,131
(13) 7 wa v b REA I GRERR) BT YR — (54) 391 (89) — (90) 490
(54) U % 2B GRERR) BT EER—(72) | 103 (89) —(3) 494
(12) 7 L— K7 L— BB G BT e el G (UHR—(AHL | 1,137
(76) 2 L— KT L MR R P9 2R | et a1 Sk
T 7L —FA7 L— BRER G #M | — () OHR—OHL | 72
s o EAEE — (90) 234 (76)R—(76)L | 756
(89 VXY AT m R A S—EUFTT (R FR) (13)—(72) 556 (79 R—(79L | 800
(0) V¥ RTm R A AN—EUF R (REFR) (54)—(@89) 288 B)R—BYL | 948
| 93) VTV T T L— A R— B R GoEFR) | (72) — (77) 965 (90)R — (90) L 854
(77— (79) 201 O3)R—©O3)L | 262




ZEHN—=T

L F R

RA=IN=1 2Ty
JA—1

V77— K (ANH2,GHH2)
V77— K (ANH2, GGH2)

(ANH2,GHH2)
(ANH2, GGH2)

7—A4 (Y51 #Y):

HE—17

(8R)W,w: ¢ 12 (0.47)
(EE)W,w:11 X 9(0.43 X 0.35)

(8= )Xx:11 X 9(0.43 X 0.35)
(EE)Xx: ¢ 12 (0.47)




